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ANSWER KEY

PART I: WRITING (30 MARKS)

A. You have seen this notice in an online newspaper ... (15 MARKS)

B. Imagine you are Sean, a university student living in Melbourne, Australia. ... (15
MARKS)

For both A & B a possible marking scheme:
Use the attached WRITING ASSESSMENT RATING SHEET (15 MARKS)

PART Il: READING COMPREHENSION (30 MARKS)
A. Choose the best answer (a, b or ¢) according to passage 1. (5X2=10 MARKS)

(1) b. New York (2) c. the headteacher (3) a. a mix of funny and sad moments

(4) c. people of allages  (5) b. to start discussions about bullying, friendship and
being different

B. Complete the table below with the information in passage 2. (10x1=10 MARKS).

(1) Main courses  (2) Tomato soup  (3) German sausage and chips (4) Grilled
Fish and potatoes (5) Burger (6) Coffee  (7) Salad and Chips (8) £4.85
(9) £3.25 (10) £2.25

C. Put a tick (V) in the right box to ... TRUE or FALSE (5x2=10 MARKS)
(1) F. Between 5.30 and 6.30 (2 F. Tom’smum (3)T. (4) T. (5 F. at home

PART lll: USE OF ENGLISH (40 MARKS)

A. Read the following text and choose the alternative from A, B or C to fill each
gap. (6x 0.5=3 MARKYS)

(1) B.was (2) C.were (3)C.was walking (4) A. stopped (5) B. were talking (6)
B. For

B. Read the following passage, then underline the right word. (7x1=7 MARKS)
(1) does (2) cannot  (3) has started (4) sneeze (5) when (6) a lot
(7) also



C. Use the word in brackets and other words, to complete the second sentence so
that it has a similar meaning to the first sentence. Do not change the form of the
words in brackets. (5x2=10 MARKYS)
(1) is washed (2) never travelled to Egypt (3) have been in England (4)
who was a very good American actor  (5) was coming late

D. Read ‘Fashion Industry’ and CIRCLE the correct adjective. (7x1=7 MARKS)

(1) Shop assistant (2) argued (3) fashion (4) exhibition (5) decision
(6) tired (7) painful

E. Complete the text with the correct form of the words in brackets.(6x1=6

MARKS)

(1) education (2) different (3) natural  (4) designer (5) performance
(6) important

F. Match the questions with the answers (7x1=7 MARKYS)
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